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O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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@ 10km @ 15km ® 20km

@ 25km ® 30km
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@D 10% @ 15% 3 20% @ 25% 3 30%
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D 6+x=x+6-18 @ 6x+ 18 = 6x

® 6+x+18=6x @ 60+x-18=10x+6
® 60+x+18=10x—+6



7}=2.0] Zol7t Hl20] Zo]Krt 3em ] A1, Sao] 2
AN ol 1 4L, Eee] Aot 18em <

2
O 12em @ 14em? ® 16cm?

@ 18cm? ® 20cm?



FOE=9009, 5= 7009 7HA 1 A=

s 1 E
A Y £ Fe Eo| £50] W o] 2u7h =gt}
ojmf, BF o /] e x dolEt T w, FotE Aom &2 A2?

@ 900 = 2(700 - x) @ 900 — x = 1400

® 900x = 1400x @ 900 — 2x = 700 — x

® 900 — x = 2(700 — x)
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@ 4x-12=5x+3 @ 4x+12=5x-3

® —4x-12=-5x-3 @ —4x+12=-5x-3

B —4x+12=5x-3
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@D 100m @ 300m ® 500m @ 700m ® 900m
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@ 5000m @ 4575m @ 3575m

@ 1575m ® 1200m
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@ 5% @ 6% 3 7% @ 89% 3B 9%
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